

MEETING DATE: July 25, 2022

**AGENDA ITEM:** Consider Approval of Purchase of Furniture for Aledo Middle School

PRESENTER: Earl Husfeld, Chief Financial Officer

#### **BACKGROUND INFORMATION:**

- Per Board Policy CH (Local), any single, budgeted purchase of goods or services that costs \$50,000 or more, regardless of whether the goods or services are competitively purchased, shall require Board approval before a transaction may take place.
- As you are aware, renovations/additions to Aledo Middle School (AMS) were included within the District's 2019 Bond Program. Included within these bond project costs were funds allocated for the purchase of furniture to outfit AMS to the same standard established by the District with the replacement of furniture at our other campuses.
- Due to the construction phasing at AMS, all of the new middle school furniture did not need to be purchased at one time. The first order of furniture for AMS was approved by the Board of Trustees in April 2021, the second order of furniture approved by the Board of Trustees in October 2021, and the purchase of cafeteria furniture approved by the Board of Trustees in April 2022.
- The attached quote includes furniture for sixteen (16) regular classrooms at AMS.
- To ensure best pricing and value, the District utilized the Educational Purchasing Cooperative of North Texas (EPCNT) cooperative purchasing method to obtain pricing from Lone Star Furnishings.

#### **FISCAL INFORMATION:**

The \$345,406.61 cost of this furniture purchase will be paid from 2019 Bond Program funds allocated for Aledo Middle School.

#### ATTACHMENTS:

Quote from Lone Star Furnishings, LLC for Aledo Middle School Furniture

#### ADMINISTRATIVE RECOMMENDATION:

The Administration recommends the Board of Trustees approve the quote submitted by Lone Star Furnishings, LLC in the amount of \$345,406.61 for the purchase of furniture for Aledo Middle School as presented.



DATE	QUOTE#
6/30/2022	14609-1

COORDINATOR

# 4301 Reeder Drive Carrollton, TX 75010

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS	
ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008	

\*\* Quote good for 30 days\*\*

SHIP TO
ALEDO MIDDLE SCHOOL
416 S FM 1187
ALEDO, TX 76008

SALES REP

P.O. No.

			KF	RA	WLINS
ITEM	DESCRIPTION	QTY	COST	CLASS	Total
HON - H5715	VOLT SERIES MESH BACK TASK STOOL 28"D X 26.75"W X 49.88"H FABRIC: LEATHER UPHOLSTERY FABRIC: SB LEATHER FABRIC COLOR: BLACK FRAME: BLACK	16	363.19	FORMAN	5,811.04
KI - RK4100H24BR	RUCKUS STOOL, POLY SEAT AND BACK, ARMLESS, 24"H WITH BOOKRACK SHELL: FLANNEL FRAME: STARLIGHT SILVER METALLIC BOOKRACK: NEMO NYLON PLASTIC GLIDES	48	239.63	FORMAN	11,502.24
KI - RKV100H18NB	RUCKUS STACK CHAIR WITH CASTERS, ARMLESS, 18"H, NO BOOKBAG RACK SHELL: FLANNEL FRAME: STARLIGHT SILVER METALLIC BOOKRACK: NEMO HARD FLOOR CASTERS	448	207.56	FORMAN	92,986.88



DATE	QUOTE#
6/30/2022	14609-1

COORDINATOR

4301 Reeder Drive Carrollton, TX 75010

PH: 972-862-9900 FX: 972-862-9990

TAX ID# 26-3563443

NAME / ADDRESS	
ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008	

\*\* Quote good for 30 days\*\*

SHIP TO	
ALEDO MIDDLE SCHOOL 416 S FM 1187 ALEDO, TX 76008	

SALES REP

P.O. No.

			KF	RA	WLINS
DESCRIPTION		QTY	COST	CLASS	Total
41"W X 22-34"H LAMINATE: TOP SILVER ALCHEM EDGE: PLATINUM FRAME: PLATINUM	Y	448	153.73214	FORMAN	68,872.00
3" DUAL WHEEL CASTER PACK, S OF 4, ALL LOCKING - FOR WING DESKS	ET	336	48.50	FORMAN	16,296.00
		16	1,244.75	FORMAN	19,916.00
	INTERCHANGE WING DESK, 23.5"141"W X 22-34"H LAMINATE: TOP SILVER ALCHEM EDGE: PLATINUM FRAME: PLATINUM D EDGE - 1.25" THICK WITH 4MM MOLD ADD CASTERS  3" DUAL WHEEL CASTER PACK, S OF 4, ALL LOCKING - FOR WING DESKS  CASCADE MEGA TOWER WITH 3", AND 12" TOTES, OPEN WITH CAST	INTERCHANGE WING DESK, 23.5"D X 41"W X 22-34"H LAMINATE: TOP SILVER ALCHEMY EDGE: PLATINUM FRAME: PLATINUM D EDGE - 1.25" THICK WITH 4MM T MOLD ADD CASTERS  3" DUAL WHEEL CASTER PACK, SET OF 4, ALL LOCKING - FOR WING DESKS  CASCADE MEGA TOWER WITH 3", 6" AND 12" TOTES, OPEN WITH CASTERS	INTERCHANGE WING DESK, 23.5"D X 41"W X 22-34"H LAMINATE: TOP SILVER ALCHEMY EDGE: PLATINUM FRAME: PLATINUM D EDGE - 1.25" THICK WITH 4MM T MOLD ADD CASTERS  3" DUAL WHEEL CASTER PACK, SET OF 4, ALL LOCKING - FOR WING DESKS  CASCADE MEGA TOWER WITH 3", 6" AND 12" TOTES, OPEN WITH CASTERS	DESCRIPTION  OTY  COST  INTERCHANGE WING DESK, 23.5"D X 441"W X 22-34"H  LAMINATE: TOP SILVER ALCHEMY EDGE: PLATINUM FRAME: PLATINUM D EDGE - 1.25" THICK WITH 4MM T MOLD ADD CASTERS  3" DUAL WHEEL CASTER PACK, SET OF 4, ALL LOCKING - FOR WING DESKS  CASCADE MEGA TOWER WITH 3", 6" AND 12" TOTES, OPEN WITH CASTERS	DESCRIPTION  QTY  COST  CLASS  INTERCHANGE WING DESK, 23.5"D X 41"W X 22-34"H  LAMINATE: TOP SILVER ALCHEMY EDGE: PLATINUM FRAME: PLATINUM D EDGE - 1.25" THICK WITH 4MM T MOLD ADD CASTERS  3" DUAL WHEEL CASTER PACK, SET OF 4, ALL LOCKING - FOR WING DESKS  CASCADE MEGA TOWER WITH 3", 6" AND 12" TOTES, OPEN WITH CASTERS



DATE	QUOTE#
6/30/2022	14609-1

# 4301 Reeder Drive Carrollton, TX 75010

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS
ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

SHIP TO	
ALEDO MIDDLE SCHOOL 416 S FM 1187 ALEDO, TX 76008	

** Quote good for 30 days**	P.O. No.	SALES REP	COORDINATOR
,		KF	RAWLINS

ITEM	DESCRIPTION	QTY	COST	CLASS	Total
VS - 02824	RONDOLIFT-KF, ROUND HEIGHT ADJUSTABLE SITTING/STAND AT TABLE, MIDDLE LEGGED FRAME WITH CROSS BASE, GAS LIFT HEIGI ADJUSTMENT, 35.5" DIAMETER X 2' 1/8"-44 1/2"H METAL COLOR: ARTIC TOP: TOP SPECIAL THICKNESS: 25MM TOP COLOR LAMINATE: WHITE WRITABLE TABLE TOP EDGE: 2.5MM PLASTIC LAMINATE COLOR TOP EDGE: 020 PURE WHITE HARDWARE: HINGED TABLE TOP LOCK: UNIFIED LOCKING 18001 GLIDES/CASTERS: MOBILE	7	1,775.38	FORMAN	28,406.08
VS - 02829	RONDOLIFT, SITTING/STAND-AT TABLE, COLUMN FRAME WITH CROSS BASE AND GAS LIFT, 47 1/4" 33" X 27 1/8"-44.5"H	16	1,942.31	FORMAN	31,076.96
VS - 45318	SHIFT+ LANDSCAPE SINGLE SIDED LOW CABINET WITH SHELVES, MOBILE, MIDDLE PARTITION, 2 PUS HANDLES ON TOP, SIDE MAGNETS FOR LINKING, 41-5/8"W X 16.75"D X 45.5"H	SH	1,138.46	FORMAN	18,215.36



DATE	QUOTE#			
6/30/2022	14609-1			

COORDINATOR

4301 Reeder Drive Carrollton, TX 75010

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS
ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

SHIP TO
ALEDO MIDDLE SCHOOL 416 S FM 1187
ALEDO, TX 76008

SALES REP

P.O. No.

** Quote good for 30 days**			P.O. No.	SALES R	EP COOF	COORDINATOR	
				KF	RA	WLINS	
ITEM	DESCRIPTION		QTY	COST	CLASS	Total	
VS- 45319	SHIFT+ TRANSFER TEACH MOBIL CABINET WITH 1 INTERMEDIATE SHELF AT TOP OPEN COMPARTM - 2 INTERMEDIATE PARTITIONS A BOTTOM, 2 OPEN COMPARTMENT EACH W/1 ADJ SHELF INSERT AND COMPARTMENT W/DOOR (LEFT CRIGHT) W/ ADJ SHELF INSERT, MOBILE ON CASTERS 2 LOCKING 41-5/8"Wx45.5"Hx16.75"D	ENT T TS D 1 DR	16	1,350.00	FORMAN	21,600.00	
INSTALLATION	LABOR TO RECEIVE TRUCKS, UNLOAD, INSTALL AND REMOVE TRASH		1	19,326.92	FORMAN	19,326.92	
FREIGHT	FREIGHT		1	11,397.13	FORMAN	11,397.13	



DATE	QUOTE#
6/30/2022	14609-1

4301 Reeder Drive Carrollton, TX 75010

PH: 972-862-9900 FX: 972-862-9990

TAX ID# 26-3563443

NAME / ADDRESS	
ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008	

SHIP TO	
ALEDO MIDDLE SCHOOL 416 S FM 1187 ALEDO, TX 76008	

**	Quote	good	for	30	days**
----	-------	------	-----	----	--------

P.O. No.	SALES REP	COORDINATOR				
	KF	RAWLINS				

ITEM	DESCRIPTION	QTY		COST	CLASS	Total
LEAD TIME NOTICE	***This quote is valid for Purchase Orders received within 30 days, unless otherwise agreed upon in writing. Any communication regarding product lead times reflects the best information available at the time of quotation.  If you are unable to execute a PO within 3 days, please contact your LSF sales representative to update your quote and confirm current lead times.  Unfortunately, supply chain issues continu for many manufacturers. If you have an absolute 'must receive by' date, please discuss with your sales representative prior to issuing your PO. We will do everything in our power to deliver your order in a timely manner. Any delays encountered with the promptly communicated.***	e e e e e e e e e e e e e e e e e e e		0.00	FORMAN	0.00
MISCELLANEOUS	DISCOUNT PRICING DUE TO SPECIAL CIRCUMSTANCES			0.00	FORMAN	0.00
			Т	OTAL		\$345,406.61

Pricing is based on the quantities listed above. A change in quantities may result in a change in pricing and freight. For any changes please contact your sales representative. SIGNATURE